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EXAMINATION FOR INSURANCE SURVEYORS
MARINE CARGO INSURANCE
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Answer eight Questions only. Question one carries 16 Marks but this is not compulsory.
. All other questions carry 12 marks each,
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L. A large'consignment of flour in bags has arrived damaged by contact with 16
water. What methods will the surveyor use to assess the degree of damage
to the consignment, assuming that the loss is covered by the insurance

policy?
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2. Whatare the terms and conditions of carrier when the goods are carried at 12
"~ “Owners Risk” and “Carriers Risk”? ' ' -
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3. Goods are damaged by an insured peril. What is the measure of indemnity 6 each
for such damage if: : '
a) the damage is partial;
b)  the damage results in total loss?
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What losses are excluded under Institute Cargo Clauses? 12
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. State the functions of 4 each

a) General Average Deposit
b) - General Average Bond -
¢) General Average Guarantee
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a)  Whatis the concept of Freight? 4 each
b) What are different Types of Freight? :
¢) How Insurance of Freight is done?
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Define Sue and Labour Charges and state the liability of the insurer for - 12
these charges under a cargo policy. . _ t
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What is the measure of indemnity under a Duty Insurance Policy? 12
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9. What are the measures that a surveyor should recommend to minimize 4 each
loss/damage in following consignments:-

a) Carpets
b) Cotton goods
¢) Tiles?
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10. a) What are the special features of Increased Value Insurance? 4

b) A consignment of goods is insured for Rs. 1,00,000, so valued and 8
there is an increased value insurance for Rs.20, 000, These goods are
damaged by a Peril Insured against.

Gross Arrived sound value =  Rs. 1,10,000

Gross arrived damaged value = Rs. 88,000 ;

The Policy is subject to increased value Insurance clause. Calculate
the claim payable under the original policy and as the comiponent
covering increased value.’ :

== THE END -.....




